
EE 3340
Homework Problem #048

Given v, =100 V (i.e, V,, =100£0°V, V, =1002120°V and V, =100£-120° V) for the
load shown below, determine R, and R, so that the sources see a balanced load. Then,find the
values of I, and 1, .

b

a
{

Ty CNT 2 10 Q2

30 Q

Zoo oan * Onn

( oose Cose Mad 2M ror JO wo

zp (2, = 30 (o pe edewert)

Il Chosse . 20 +\ak 2|[300 ~ 10~

5 \vo [ro® > ia ~ 10I~ Foie A 30 + Qa
ay > —— = wl? A 300, ~ %00 +10Re
1,

= tool-t2e® -120° 20 op = 300La = = 10 [212° A 2
a - 0 ~ 1<€JREa) zs

T,% Ln+3wt Ly » 600q [loct” A

1, = ERY ‘i, + % Ve = 0 ( a» engeetel, Sih ce Me
Load 1s bat anced nov be $e Source)


